Day-1 — Session-1 — Set-A — Hindi Medium
‘Self concept’ the stepping stone of social development starts at this
stage
1. Pubescent
2 Late Childhood
3. Early Childhood
4

Early Adolescence

1

2 JTR-ATeATaZ=IT

3. URTHP dTcTTazem
4 URide fhenrazen

In the beginning children use their hand totally to hold the things.
Later they are able to manage to hold the things with their fingers-
Developmental principle involved here is.

1. Development proceeds from general to specific

2 Development follows uniformity of pattern

3. Development proceeds continuously

4 Different developments proceed with mutual relations

T 9 P! UBSA > [T Ugel YR FII BT IUANT PHb d1S
A Forferl A ag B Ubs Thd 3 | gTA o) g e
BI A -

1 farepTar ATeReT 3@z A f[ifdte H 31T Tedl B |

2. [Io™T TP g& e BT SRV BT g |

3. T sifafes U A gaar g |

4. Tafag eRT URUR® Jde & U A ded 3 |



Child changes the environment according to his convenience. The

cognitive process is

1
2
3.
4

Organization
Assimilation
Accommodation

Equilibrium

qTeih ATATaR0T Bl 37Uel 3TIHe AGeTel Bl HsTTelcHD
AfeheT -

1.

2.

3.

4.

AT
AlefidBor AT uRuTH
ST ReTdl

g

The following type of Classification of Intelligence Tests basing on
time of answering

1.

2
3.
4

Individual — Group tests
Verbal — Non verbal tests
Power — speed tests

Paper pencil — performance tests

Torea A 3R o & JF9 iR naniRa gig uRansi @

qoffseor § -

1. o - AEfge udteny

2. onfies - srenfes ufdeny

3. AR - oty ueleme

4. PaAHA IR P - Rreaea gHend



A child is unable to mingle with his classmates because of his

high shyness — The boy’s problem is

1 Physical problem
2 Physical disorder
3. Mental disorder
4

Behavioural problem

U ITeidh 37U U=l & PHRUT 37U Hall & faenflar A
s A <18l 3 U1 /T B | A ATeIP B JAHRAT B -

1 RIR® I
2. RIR® [eR

3. ARG [ABR

4. TAGR P JAARAT

The emotion which appears first in children is

1 Fear

2 Excitement

3. Anger

4 Jealousy

dTeihl A UG Ugel Sbe gl aredl AT -
1. HI

2. I

3. g

4. o=t



Teacher playing along with children observes their behavior during

the play is called

1 Participant observation
2 Controlled observation
3. Non-participant observation
4

Introspection

37ETaeh 3ff B A Held U, Held AAT BN & JAGR
BT 3Tdcilbel Ppel -

1. ufa¥en e

2. Feriba saciea

3.  JR-ufgamh e
4.  3ida: 3rdcibe

The self concept developed in children through interpersonal

relations and reading books, stories, novels etc is,

1 Ideal self concept
2 Real self concept
3. Universal self concept
4

Acquired self concept

IR] & T Ader 3R fpard, waifedl suema 3nfe ueat &
ERT dreTdl A [aaplRaa gia arell sTTeraITaen

1. 3teef Ta=i 3raemRon
2.  dRdide 3TTcH 3TN0
3. HATdATHP 37T 31T

4.  31ITSTa 31 3M@EROT



10.

A boy with equal interest in Mathematics and Science passed
class X. Now he has to choose either M.P.C. or Bi.P.C. The conflict
here is

1. Approach - Avoidance

2. Avoidance — Avoidance

3. Dual Approach - Avoidance
4, Approach - Approach

oTfTa 37k faste o & ufa U & PR &1 SR TJE darelt
T 10 df el A Il 3N | 9§ M.P.C. AT Bi.P.C. U A
A TP B T BT § | IABT Jad 0AT B -

1.  3UnRH - uRgR
2. URgR - uRgr
3. fg3umme - uRgr

4. SUPTH - 3UITH

The faculty that is present in every person according to

Noam Chomsky

1 Universal Learning Faculty
2 Universal Language Faculty
3. Universal Scientific Faculty
4

Universal Socialistic Faculty
A TAFFD & 3JAR TP Ath A RAd 1HAAT 5 -
1. At 3ifipre @t e
2.  ANANHB HIST B AT
3. AdAfAS AT T
4.  AHNTHEG AT B AT



11.

12.

The Defense mechanism adopted by Sagar by hitting hard his bat on

the pitch as he got out for the very first ball in a cricket match.

1 Projection

2 Displacement
3. Withdrawal
4

Regression

Ugcll &t ¢ A 3M3< gl aTeAT ARR HIel H 3B 31Ul doed
®l SR A Aga (TF) R 3 ART gAA I2MHAD Ui 3 -

1. w&ior

2. fozemues

3. 3UANER AT a9l
4. FcITEde

The virtue called ‘Reliability’ is to be achieved by the person in this

psycho social critical situation
1 Autonomy vs Doubt
2 Integrity vs Despair
3. Initiative vs Guilt
4

Role Identify vs Role Confusion

Ao foeree aRRaf -

1. TaIddr vs Hes

2. HHAICT vs forzrem

3. UgAdBSH! vs TR
4. U &I UgAE vs Ul Ao



13.

14.

One of the following is not a characteristic of Learning

1 Learning is purposeful

2 Learning is a product and not process

3. Learning is goal oriented

4 Learning is universal

forear & A 31t &1 F2UT TF FE B -
1 3R g=sTEeHs 3 |

2. 3P TP B g uitean =81 3 |
3.  3iEOTH @8 IS B |

4. 3ifEpE IdAifFs 3 |

One of the following is not a physiological need

1 Maternal drive

2 Sleep

3. Love

4 Water

foreat & A I8 aMRIRP 3maesar gl B -
1.  HIJ® dTelb

2. dig

3. uH

4. Ul



15.

16.

Suma is scared of a teacher in her school as he punished her
severely. But she is not scared of other teachers. This is an example
for

1 Stimulus generalisation
2 Stimulus discrimination
3. Spontaneous recovery
4

Extinction

JHT B UTSATAAT A UP 3eAUP o 48 o af ag Jord el
3, ciichel g dTehl 31RATUD] A TG ST TG SADT 30T
-

1. 3EUel ATHATIIB0T

2. 3EUe faAdeor

3.  WAgol, gal: uiia

4. TaceiieRor

According to Vygotsky, the following is a lower mental function.

1 Questioning

2 Synthesis

3. Creative Thinking
4 Analysis

forea & A oMt & 3R HA AERFS uisan 3 -
1. uF &
2.  Heewor

3.  JoldllcH® AR
4.  Tagetwor



17.

18.

Bandura classified reinforcement into 3 types. This classification
does not include

1. Direct reinforcement

2 Indirect alternative reinforcement

3. Self reinforcement

4 Continuous reinforcement

I3 Tdetel Bl dlel W A dlel g FA doffepor A Adierd
1. Y31 Udcldd

2.  RIET faeey gade

3. NI Yadd

4. FRaER vaaa

Ganesh while preparing for examinations first learnt Philosophy and
then Psychology. In the psychology examination he is able to recall
Philosophy and unable to recall Psychology. This is due to

1. Repression

2 Proactive inhibition
3. Retroactive inhibition
4

Psychological trauma

ITOIYT A TR B AART HA U UGt qefetem arg A
Fefaster, Iz AafasTe s Ja7 <ofar oy ae
3TRIT U HANISTTe 81, SADT BRUT & -

1. A

2. YRS 3=
3. ToREa @Ry
4. &P 3mEE



19.

20.

Rakesh learnt a list of 30 meaningless words in 20 trials. After
2 months, he was asked to relearn the same list. This time he took
12 trials to learn the list. His saving score is

B 30 RN & 3refRfEa o=l B P B 20 AR UTH?
A, S AGEl & IIE I FA B SART ABTA BT Bged
U3 39 IR 12 Ul & BT ABT AP aad &t IN0TET g -

1
2
3.
4

12%
40%
90%
30%

The first step in the process of memory is

1 Learning

2 Retention

3. Recall

4 Recognition

At ufcsan A ugen AU 3 -
1. e

2. &grRur

3. el THZUT

4.  Ugdrel



21.

22.

One of the following is not related to affective domain

1 Receiving

2 Responding

3. Valuing

4 Synthesis

foreat & A smaigor & A Ady TGl B -
1. Jmgrar

2.  Hfdafsear fezmen

3. e fererfzor

4, T

When a modifiable connection is formed between a situation and
response, if other things being equal, that connection strengthens.

This is
1.

2
3.
4

Law of use
Law of readiness
Law of exercise

Law of disuse

vs uRReafa 3R ufafseen & g uRadaoia F=ieeE go=
TR ID & fauT FAE gl R ag Adlele Aoqd Jeidl g

ug - forr 3 -

1. SuAbrar s
2. ddRdl oraH

3.  3MEpH fomd

fermu=on fors



23.

24.

Dyslexia is this learning disability

1 Attention deficiency disorder

2 Arithmetic disability

3. Writing disability

4 Reading disability

feacfeRTem s 3iftpmeT &) w3 -
1.  TBRIAl Bl Bl Bl 31T
2. OO H 3THAT

3. oREe Adrd 31T

4. UGS HATE 3T

The subject information in an integrated project is

1
2
3.
4

Limited to one subject only
Related to many subjects
No relation with subject and information

Subject and information are contrary to each other

UHhIhd GRS # 33 9T &) SIaaR! § -

1.

2.

3.

Uh faug # g AfHa gicdt 3 |

3 fau= 3 Hdftra giat 3 |

o=y 37z ster & i HAde ST giar |
a1 31 &1 Sledl U gR & fausia 3 |



25.

26.

The following statement is against to child centered teaching

method.

1 Children are limited to answer the questions of the teachers
2 Students learn through construction of knowledge

3. Children share their thoughts with teachers and peer group
4

Self learning takes place in children

farg] Ffcwa foremor faftr 521 werer & e 3 -

1. O 31eA9h] P el P IR 2ol dp gl AfHd 3ga
3

2. ©BMF o 3l ffHa $a gu 3139 Ha 3 |

3. B 3Ua AR, 31eaus 3R JAHaEDB A dicd & |

4. OEN A TNT IR A g |

The main aspect in the teaching process in which Piaget and Bruner
differs

1 The relation between Teaching and Maturation
2 The relation between Teaching and Motivation
3. The relation between Teaching and Content
4

The relation between Teaching and Evaluation

st siR e, Rieror [l & g& sier & HAgaa @idi 3 -
1. remr 3k uRugmar & dig &1 JAdu

2. fRreror iR 9Rom & di @ A9

3. freror 3k fw=nt & dig &1 A9

4. Tremr iR ATiBa & I B A



27.

28.

The last step in Herbartian steps

1 Presentation
2 Preparation

3. Application
4

Recapitulation

gde & JurEl & 3ifasr Aare
1. JHUr

2. dO

3. 3™

4. Yerdbere

According to Edgar Dale cone of experiences more concrete

experience is

1 Observing Hippopotamus in the museum
2 Observing Hippopotamus in the zoo

3. Dramatising Hippopotamus
4

Observing Hippopotamus picture in the magazine
USOTR & & 31gaal Pl 90g & AR 31TF I 37
%\- -
1. UG H oI greit &1 3raciidhel Hell
2. wifor HAugIeT HA Sicigifl &1 3Tdciicel el
3. Sicigrel & S HT e
4. uirepr & SioigrRelt & ’er & uzen



29.

30.

First action in counseling process.

1 Taking information from counselee

2 Establishing rapport with counselee

3. Giving suggestions to counselee

4 Suggesting solution to the problem of the counselee
wrreef ufssam & ugett == -

1. Rl A FHER g

2. R F TR HAdE Ferer
3wl B ey e

4.  ORTALMR & THTT BT JATET ST

The prime aspect of National Curriculum Frame Work 2005

1
2
3.
4

Transfer of information
Completion of Syllabus
Construction of Knowledge

Recitation

I 18T JUTTEH Tefel 2005 T FETeATT -

1.

2.

3.

fars=ria=or glen
UTGRIcha Bl GRT Hell
STt ferator

BT BT



31.

32.

Hindi Paper-1 SET - |

oidarer ufeel 31 3fR 32 "esl & IR ugderE|
feramal & fafear agagm 3,
feperall # grRet YT B,
el & ft Jgard B |
Tparat # ferers fovedt gid § 2
1. 3RA P
2. fafsen &
3. uRal&
4. Jfai &
Ig wiaaier feaa ddfea g 2

foparg
37€TUPh

> w e



eI YR 33 3R 34 Hesll & IR uygHeE |
A A S § | H 3nieerare & s Seloid BT Jab g |
& NSt oo A aTq BT § | Tg AT Iga gt HS) gt |

33.  ONSt HTOT BT gt B ?

1. &l
2. gl
3. =S
4, arsi

34. Jiis SicTolitd & <91 Hgl 284 3 ?

BRI

3nfeeTare
ARIeTaE
3Romare

> L e

35 R Rig fooe o w@wen ag B -

A W N P
D‘ﬁ



36.

37.

38.

39.

‘BR P 3TN oild 8 Ig e faenm &1 ure 3 -
1. SRRl
2. HdIg
3. Gifgett
4, HgEl

et SRR uldtg ubeer B - 3Fithd o &y
UGdIelT -

T$9F

ASDHI e FAd! g - JFAhd 0 A TBR B A
2|

1. afharas s

HTIaTId HsM

geIdreh Hsll

STifaarae st

> L

gIBRT 1H T g - JHFAThd 1 A TBR &I
T 3 -

1. YYdrad AdATH

2. gSydATad AdeH

3. HAdedme AderH

4. Tersrare Adars



40.

41.

42.

43.

I U Folqd fhell § - IFThd o fhA IdR &
faotwor 3 -

1. JurarEs faeiyor
2. SgRdara® faeor
3. TSmEmd fayor
4. fercraras fagiwor

H Jdg AT IOt 39T - ITT A A TBR B b 3 -
1

2.

3. fgoe® fpa
4
HASIGZ HIHA BIAT g - JFATThd AE BT Wi feior Ty
USIelu |

1. HAogRe
2. HeIG!
3. HoIgTEe
4. FHolRe
YISl H3BR RIAT &l bg 8 - 3Ffhd A= Bl
dgaae Y UgAIelC |

g
3



44,

45.

46.

47.

areis Rig — s2a1 3 — 3RIa BRe Rig ugaifew |
A

A
®I
G

el

& Jepon - 3T IR BT A TA BIA A B |

1. A HiT=F BT

2. AN AT BT

3. HAHA ddATE Bt

4, JAHTH ddHAT Blet

UGB oreg HT T o forg aoif & A B |
1. 3ig, 317

2. T, orfdr

3. ferem, Iowe

4. qutd, Atdd

ST HfH DY URSHAT Bl 5 | IATDBT oM H
3UOf UgEfelv |

1. U

2. Oi¥
3. AT
4. uRRe



48.

49,

50.

ol

RI ! feigT wee 981 Uiy g | IFifba o &1 faaia
9T UgdIfev |
ofta

> w Do

TN ST =T 3R HPTE AP | - Ig A TR &1
arerT 3 -

1.  HTEMROT I

2. faAtva g

3. TAYH AT

4. Taftraras e

USY It dolld § - G BH dred T UgdIfelu |
1. Yol & gRI aidd aoT™ oid § |

2. YSul & gRT oldd IoI=T Sifedt 3 |

3. g3l & GRI &I JoTr=T 91 |

4. YSYI & GRT S ISI=T SR |



52.

53.

54.

1
2
3.
4

dgSY AATA
agdifg JAA A

PHIRT AAA
IRENHT AATH

“3g A Tl 3R 3T’ - AR B 37 ugnferv -

1
2
3.
4

agd Jgeft Helren
FRATHE Bl

CiREERIGIH
ShIac STofell

= Hera & 3iat w2 - cipifth @1 31 ugaiferw -

1
2
3.
4

BIH Y BId Gl ABT
g IR I3 UHG =gl

3194 Ul A &l
3lell 31R ATATD



95.

56.

S7.

Hindi Methodology Paper-1 SET — |

FrefHE TR uT Bl oo - f3re101 @1 U 32
Lr

1
2
3.
4

M [ w= B 3uE kAR &5 &= T |
JUfATET BT TG B A |

3ot A 3@ H2T A |

FTATHD AHIM BT HEUIBOT d9] A B2 A |

Mictes & 3RAR TP Ahel don 38 Riere & afas-

ont & 3icold g1 ION B TH FABA 3 -
1. Tpid g 3g

2. 3cAg 9 3nemdiedn

3. 3MTcAfIard d swoI-21ith

4. 3T AR T HaI-feTisI0r

arIel Pl T oI SRR Ue .............. BT THTT
SoITET UsSdl & -

1. AHGH A B FaRAT

2. Agad-fafé

3. JAlrarae - 373

4. 3meef arge



58.

59.

60.

TSN P gRHTST AT 1°” A AdA &1 fhar-o=
oA g1 [whaa g 815 & 3icold smar § -

SiTcllcHD
HIATcHD

1
2.
3. TrareA®
4., HAAPIATHSD

HTIT-FerepTT e f3re1or Haeh AgomeN fepemait &
qoffcszor g1 fepenail & 3iaola T AHhd 3 -

1. HcATcHSB
2. Aigfcas

3. AR

4. meI-fasTTe

sTiet-sita & APl A ated Bt 31feg &1 ferRmmor
............... BT AgcayYl 359 & | R7h e &1 wgh
STRUGANIC -

1. PR AT Fqeaidpa

2. a¥Glerss uam

3. e g

4. it IuaR



61.

62.

63.

64.

English — Paper —I — Set - |

He is not healthy. He is not wealthy
These two sentences can be combined as:

1.

2
3.
4

He is neither healthy nor wealthy
He is not healthy but wealthy

He is both healthy and wealthy
He is either healthy or wealthy

The boy took off his clothes to change them.

The meaning of the phrasal verb 'took off' is:

1.
2.
3.
4.

Cleaned
Washed
Removed
Folded

Choose the sentence that expresses ability

1
2
3.
4

He can carry this bag
He carries bags

He may carry this bag
He should carry this bag

Choose the sentence that has a noun clause

1
2
3.
4

She said that she was busy
She asked him for money
He helped her many times

I will not go there



65.

66.

67.

68.

Sindhu, who came from Guntur, won the match.
The part of the sentence, 'who came from Guntur' in the above

sentence Is:

1.

2
3.
4

a finite clause
a defining relative clause
a non-defining relative clause

a main clause

He never drinks milk, ......................

Choose the correct question tag to complete the sentence

1
2
3.
4

does he ?
doesn't he ?
didn't he ?
did he ?

Seeing the police, the thief ran away
This sentence has:

1.

2
3.
4

one main clause
one relative clause
one defining relative clause

one non-defining relative clause

You can sing songs.

Choose the correct "Yes / No' question of the sentence above.
1.

2
3.
4

Do you sing songs?
Do you sings songs?
Will you sing songs?

Can you sing songs?



69.

70.

71.

72.

He won the match ................... his illness.

Choose the correct compound prepositional phrase to fill in the

blank in the sentence above.

1. in spite of

2 in place of

3. ahead of

4 by way of

The bird .................. out if you leave the door of the cage.
Choose the correct verb to fill in the blank.

1. flies

2 will fly

3. fly

4 would fly

We need not sleep on the floor as there are ....................

Choose the correct phrase to fill in the blank.

1.

2
3.
4

not beds enough
not enough beds
enough beds

beds enough

| had scarcely put the phone down when it rang again.
The meaning of this sentence can be expressed as:

1.

2
3.
4

No sooner had | put the phone down than it rang again.
| put the phone down after it had rung again.
Before putting the phone down, it rings again.

After the phone ringing again, | put it down.



73.

74,

75.

76.

Choose the word that can be used to write an adverbial clause of

condition.

1. As

2 If

3. Since

4 Because

Choose the correct noun phrase with the correct order of adjectives.

1 A beautiful green leaf
2 A green beautiful leaf
3. A leaf beautiful green
4 A green leaf beautiful
Mohan wishes he ............... a new house.

Choose the correct verb that fits the context

1.

2
3.
4

has
doesn't had
will not had
had

Reading is a good habit.
In the above sentence, 'reading' is:

1.

2
3.
4

a present participle
a past participle
a gerund

a helping verb



77,

78.

79.

80.

Madhu is a doctor and Sita, a nurse.
This is:

1
2
3.
4

a simple sentence
a compound sentence
a complex sentence

a compound complex sentence

He is the tallest boy on ..................earth

Choose the article that fits the context.

1
2
3.
4

a
an
the

No article is needed

No other river in the world is so long as the Nile.

Choose the superlative degree of this sentence.

1
2
3.
4

The Nile is the most longest river in the World.
The Nile the longest World in the rivers.
The Nile is the most long river in the World.

The Nile is the longest river in the World.

Choose the correct spelling of the word.

1
2
3.
4

rejuvenate
reguvinate
rijuvenate.

rejuvinate



81.

82.

When .................. this new car?

Choose the correct verb and subject to complete this question

1 do you buy

2 did you bought
3. have you bought
4 did you buy

[82 — 84] -
Read the following passage and choose the correct answers to the
questions given after

Mahatma Gandhi believed that industrialisation was no answer to the
problems that plague the mass of India's poor and that villagers
should be taught to be self-sufficient in food, weave their own cloth
from cotton and eschew the glittering prizes that the 20" century so
temptingly offers. Such an idyllic and rural paradise did not appear
to those who inherited the reins of political power.

Mahatma Gandhi believed that:

1. Industrialisation would solve all the problems.

2. Industrialisation was no answer to the problems faced by the
Indians.

3. Indians would never establish small-scale industries.

4. Indians would have to resort to industrialisation at a later

stage.



83.

84.

85.

86.

The basis of 'an idyllic and rural paradise’ is:

rapid industrialisation of villages.

self sufficiency in food, clothes and simplicity of the life
style.

bringing the glittering prizes to the villages.

supporting holding powerful positions.

Mahatma Gandhi's views opposed industrialisation of village
because

1.

2
3.
4

it would help the poor not the rich.
it would take away the skill of the villagers.
it would affect the culture of the villages.

it would destroy the skills of the villagers.

A manual of instruction for any class is:

1
2
3.
4

a dictionary
a textbook
a question paper

a lesson plan

The grammar translated method dominated the field of teaching and

learning during this period

1
2
3.
4

1840 to 1940
1990 to 2005
1840 to 1841
1950 to 2000



87.

88.

89.

90.

According to psycholinguists,’ babbling stage is:

1 7 to 10 months
2 2 to 5 months

3. 15 to 20 months
4 20 to 24 months

The following is not a problem associated with learning English in

our schools:

1. Children get to listen to English only for about forty minutes

in their English class.

2. Many teachers use mother tongue to teach English

3. Children get less opportunities to use English

4, There are no qualified teachers in any school in India to teach
English.

Choose the false statement:

1. A single sound is represented by several spellings in English.
2. In English we have silent letters and doubling of consonants

regarding spelling

3. Using capital letters is found in all South Indian Languages
4, We cannot find 1 : 1 relation between sounds and spelling in
English.

The three levels of conceptualization identified by Edward Anthony
are :

1 Approach, method and technique

2 Approach, philosophy and technique
3. Principle, approach and method

4 Philosophy, principle and approach



91.

92.

93.

If ‘y’ be the Additive Inverse of ‘x’, then the Additive Inverse of ‘y’

IS

‘X’ T TFhcTel fIelid ‘y’ & al ‘y’ BT Hbelel fIelid g -

1
2.
3.
4

KBS TR0 - D8 - 1- & -1

The value of /604++/441

\604+/441 BT T B -

1
2.
3.
4

21
23
25
27

One of the following is not a Pythagorean triplet

oot & g VoA B =18l B -

1
2
3.
4

3,4,5

6, 8, 10
8, 15, 17
10, 24, 25



94,

95.

96.

The greatest two digit prime number is

&l 3icl P AT FZA3N & TSI 3 -
1. o1
2. 93
3. 97
4. 99

25

Product of T and the multiplicative inverse of ; IS

f_isﬁigaigmaﬁaﬁﬁzﬁrw%-

Tushar drank %th part of a glass of milk contains 250 ml. Then the

milk left in the glass in milliletres

§m250ﬁ1.aﬁ.§aa\saﬁ%ﬁ§md’r%m%a’raﬁﬁ
a1 gy g - (.. A)

1
2
3.
4

50

100
150
200



97.

98.

99.

The fraction equal to 0.238 is
0.238 & foru =1 “‘farr’ B -

L 28
100
, 238
500
3 19
250
s 1o
500

The ratio of Prameela’s income to her savings is 4 : 1 then the

percentage of money saved by her is

THIAT BT 3T 3R TIdi BT 31U 4 : 1§ al AP aad Bl
ufderd 3 -

1. 20%
2. 25%
3. 40%
4. 80%

If Eswar pays an interest of ~ 2500 for 4 years on a sum of ~ 5000,

then the rate of interest per annum is

geaR " 5000 g &b feT0 4 aul H ~ 2500 =TSt FBMET o |
dl BT IT TS BT 3 UF ad & forv - 3

1. 10%

2 121
2

3. 20%

4, 25%



100.

101.

102.

If 5 persons can finish a work in 10 days then one person can finish

the same work in (days)

5 @91 fATBR T ®1e @1 10 ol & QT B2 al I8! B Uh

feh gaet el A QT B2 AboT |
1.2
2. 10
3. 20
4. 50

The angles of a quadrilateral ABCD taken in an order are in the ratio
3:7:6:4then ABCD s a

1
2
3.
4

Kite
Parallelogram
Rhombus

Trapezium

ABCD agafst # SI0N &I 31uTd HAM: 3:7 : 6: 4 3 al

ABCD U - 3 |

1 qdor

2.  AATEIGR TGS

3. A agys

4.  AACT TG

The number of diagonals in a septagon is
UF A it A Full 3t AS B -
1 42

2 21

3. 14

4 7



103. The English Alphabet that has both horizontal and vertical lines of

104.

105.

symmetry is

e AT 3T Altsd IFAT3N 16T TS 318R 3 -

1
2
3.
4

X

E
M
K

The difference of two complementary angles is 30° then the angles

are

gl Y3H BIN BT Ag 30° g &l d BIUT 3 -
1. 20° 50°

2. 30°60°

3. 40° 70°

4. 75° 105°

The perimeter of the rectangle whose length is 12 cm and a diagonal

is15cmis

Uh 3RIAIPR Pl ears 12 A3, 31 &of 15 A, & a
3BT G 3 -

1 27 cm

2 42 cm

3. 54 cm

4 108 cm



106.

107.

108.

Perimeters of a rectangle and squares are equal. The length and
breadth of rectangle are 35 cm and 25 cm, then the difference of

their areas is

3RIATBR 3T TP b B AH & | MRIAIBR I ddrs 30T
AieTs BAM: 35 A, 37T 25 A.#. T d 36 Bl B
AT B -

1 10 cm?
2 25 cm?
3. 35cm?
4

60 cm?

The area of Rhombus is 216 cm? and one of its diagonal is 24 cm

then the other diagonal is in cm

UF A gt BT 356l 216 .33, 3R 37S FHoif A A
TS 24 A 3 a g1 wof A, H -

1 9

2 12
3. 18
4 36

The median of the data 40, 50, 99, 68, 98, 60, 94 is
40, 50, 99, 68, 98, 60, 94 BT LA e g -

1 99
2 68
3. 60
4 40



109. The difference between the highest and the lowest values in a data is

110.

1
2
3.
4

frequency
class interval
range

mode

The mean of three different natural number is 40. Among the three

numbers, the lowest is 19, then the highest possible number of the

remaining two numbers is

dia fafirer sger J=isi ot 37Ad 40 3 | 3d A Bt
AT 19  f IqTh! Slal A3 HA FHTS 3T”id Il

TJFT B -
1 40
2 71
3. 81
4 91



111. A graph showing two sets of data simultaneously is known as

pictograph
histogram

1
2
3. pie-chart
4

double bar graph
qqiel & &l IRl & A-JA™T Jfaa dearen [ B -
1 =1 ddba
2. 3md /=
3. gd T
4. Tgzdw ok
112. |If, %X -4 = %, then the value of 2x — 7 is
5X _ 2X
?~4—?§Eﬁ, 2 — 7 BT FeI B -
1. 18
13
, 13
19
3. 0
n 13

19
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1. —XE
;

6
2. [2:2
;

3
3. —XE
;

0
4, —XE
;

114. If5 x A =CA then the values of A and C are

5x A=CAg al A3TR C & AT HHA: - g |

O O O O

> > > >

I
o N oA~ o

1 1
2 2
3. 5
4 2



Paper-1 Set-1 Maths Methodology

115. One of the following is not an item in OBB Maths kit

1 Domino cards
2 Napier strips

3. Geo-board
4

Fractional Disc
1. sifde &8
2. ateR ufgar
3. fomn ad
4.  HREd 5%

116. A specification of “understanding”

Recalls
Ilustrates

1
2
3. Selects appropriate tool
4

Analyses
AT A Haiferd TTENBIT 3 -
1.  IIE H00

2. T 3STI0T oM

3.  WZI 3UBT Bl JeAon
4. faeeior Hom



117. “Mathematics is the science of numbers, quantities, measurements”

defined by

1 Euclid

2 Maria Piary

3. Benjamine Pearce
4 Bell

‘Tz, At 3R Al w1 s g oftra 1 T were
fepAmT B 2

1. gfaers
2. AR R
3.  dfore o
4. qd
118. One of the following is not a principle of Activity method of
teaching
1. Providing learning activities designed by the teacher.
2. Developing learning through activities, discoveries and

experiments.
3. Developing individual, group, whole class work.

4, Encouraging intelligent students only to do the activities.
foreet A PR fRieror fafér &1 3= I w161 B -

1. 3% &b gRI g1 afafaffRn o1 ey ger &3,
3UcTeel pe |

2. Freng, e, T w=ienN & gRT 31Ree & 3afa e |
3. afhord, ATHEH, YUl Bl & HIH A deid are |
4. wfsare BEl B & BT B P AU HicAge Qe |



119. Advantage of “Alternative Response Questions”

1 No freedom in writing the answer.

2 Much opportunity for guessing the answer.

3. Useful to test the objective “knowledge” only.
4

Possess more objectivity.
depioues ufafham & U9s A IIg 1 8 -
1. oA foe A Tadsan gl gial |
2.  SIATd P SIS edTe &l FHidbl sIer g |
3. SEcHS cgal B ulen & v g 3ug 3§ |
4 3 wERE A E

120. The item to which maximum points are allotted in Hunters score

card is,

1 Literary style

2 Psychological principle

3. Exercises given in the text book
4 Physical form of the text book

g TPk w18 A 3ifere fagsit (urge) arem 3ier 3 -
1. omeT e

2.  HeAIdSIeID JA
3. foa@ # GF s3I
4. gxa®d P Allds Ha



121.

122.

EVS - PAPER-1-SET -1

The release of water in the form of vapour from plant leaves is called

1
2
3.
4

Respiration
Photosynthesis
Excretion

Transpiration

Uil & UKl A HIT & HY A Urel] d1gL 314 B fepan

1.

2.

3.

4.

SqTATHT
IBILT-TH AT
3ot fopan
CIS e

In human body 'Hinge joint' is present at

1
2
3.
4

Knee, neck
Neck, elbow
Elbow, knee

Neck, shoulder

HAeld & RR A ghar-oiis (G sge) glearet 39T -

1.

2.

3.

Yo - J1de
&S - Pigelt
Plgetl - gea
e - peEn



123. Karanam Malleswari won the Olympic medal in this event
1 Tennis

2 Weight lifting

3. Shooting

4 Boxing

PIUTH AKNR! 3Mcifuad d A Ufa=niar # uesh sl -
1. <=

2.  dsctaftpiear
3. offcar
4. afeRdar

124. Instrument used to measure the wind speed is

1 Barometer

2 Anemometer
3. Hygrometer
4

Lactometer

ga1 &1 91fd Bl AU & fTT A 3UBT BT IUAIT HIA o -
1. dRiRR
2. 3fferdidles

3. 3R
4. TGEIHARR



125. Sir Thomas Alva Edison did not use this as a filament in his

126.

electric bulb

1 Platinum wire

2 Bamboo wire

3. Tungsten wire

4 Cotton thread coated with soot

ATHA Ucdl USIAE 310el fag[d dca # $A®! Whetdic & HU

#H Iuior wigl Tema -
1.  Alced & ar
2. dF & dR

3. CORTe &I dR
4.  IfcTS Feit aom

After the removal of sludge and floating material like oil and grease

the waste water becomes....

1
2
3.
4

Clarified water
Potable water
Ground water

Mineral water

g urelt A ga HA A, Ul IR Bt gU dd, S 3nig

1.

2.

feredet oot
U ot
apoTef STeT

o1dul sl



127.

128.

In human eye the yellow spot is the area of

1 Low vision

2 Blurred vision

3. No vision

4 Best vision

HAleg & 3T A dier faig

1. A gitearar Aol

2. el gitcarer HiT

3. I3 gitc o glaara 1T
4. 37O giearar HwT

Dams built on the river Godavari are

A) Sri Ram Sagar

B) Srisailam D) Jayakwadi
1 Aand B

2 A, BandC

3. B,Cand D

4 A, Band D

forer & A oMerad @ikt v faafdda ate
A) STRTH APR B) &cisRH
B) sh¥iet D) STererRITél
1. A3RB

2. ABS3RC

3. B,C3IRD

4. AB3RD

B) Dhavaleshwaram



129.

130.

Geographically our country is divided into six physical regions.

According to this Southern Indian states are

1
2
3.
4

Andhra Pradesh, Telangana, Tamilnadu, Maharastra, Kerala
Andhra Pradesh, Telangana, Tamilnadu, Karnataka, Kerala
Andhra Pradesh, Telangana, Tamilnadu, Odissa, Kerala

Andhra Pradesh, Telangana, Karnataka, Tamilnadu, Odissa

AoNTeTed THU A AR 290 Bl Bg FHScll b HU A [THTSIT
Rpal 3, 3% AR SRV 3RT & IS -

1.

2.

3.

4.

30 UQQA, AN, ATHAAATS, AGRIE 3R BTl
37E TQLT, AT, AfHceTs, PHeflcd 3R Bel
30 UQQA, AN, ATHAAATS, NERAT 3T Bl
37E TN, dcioTell, Helled, afdHereg 3R NSk

One of the following is not a variety of Paddy

1
2
3.
4

Hamsa
Swarna
Asha

Masoori

forear & A ‘aner’ o1 fopesT Ag =Gl B -

1.

2.

3.

il
ot

3111

Rt



131. Father of white revolution in India

1 J.K. Korian

2 M.S. Swaminathan
3. J.C. Bose
4

Ronald Ross
HRd H 9dd Wifd & Uareg
1L O pRIa
2. UH.CA.IGHERS
3.  SiALa
4.  JeITes IA

132. The tribes live in the forests of Srikakulam, Vijayanagaram and

Visakhapatnam are

1 Koya, Savara
2 Savara, Kuvi

3. Kuvi, Koya

4 Gadaba, Koya

oot 3 siipTgera, faeenPR 3iR faensrugud & sl #
Tgearet snifeardt & i -

1. &N 3R AR
2. TR IR P
3. Pia 3R BN

4. Jcd 3R BT



133. Incorrect statement regarding 'Saving fuels' is

1 Walk short distance on foot

2 Use bicycles instead of cars, motor cycles and scooters
3. Food material is to be cooked for a longer period
4

Utilize day light instead of electric lamps

geel gad A Adfa 3T are
1.  BIA-8BiK gRAT @I Yget acten 3 |

2. BR, AR ATSRhet 3T TPl & IJga A ATShbe
BT YA BT 3 |
3. @ Uil Pl AT AFHA 3dTetel 3 |

4. f&a A fogga afadi & aqet IPS &S THIA B IUHNT
P B |

134. Part of the flower that converts into fruit after fertilization is

1 Ovary

2 Pollen grain
3. Style

4 Anther

3d01 AT BASIHUT & dAIE Bel &b T H Jgereidiel Bl B

aTTaT -
1.  3ERM

2. URIBUT

3. it (Igw)

4.  UIMT BIT



135. Identify a homogeneous mixture

1 Air

2 Milk

3. Butter

4 Shoe polish
FeTc 0T B glew
1. gdr

2. g™

3. HE

4. AT Glferel

136. Ramesh lives in Tirupathi with his mother, father, sister, uncle, aunt,

grandmother and grandfather. This type of family is

1 Nuclear family
2 Modern family
3. Smart family
4

Joint family
IR famula A 3rua Frar-fuan, sl age, amr-ar 37z
TIET-SIl & ARSI IJd 3 | A UBR BT uRar -
1.  ogite I UPhd URaR
2.  3nggfers ular
3. R uRaRr
4.  AgH URAR



EVS - 5355 -1-28 -1

137. Chirala- Perala Movement was led by

1 Mutnuri Krishna Rao

2 Chilakam Ramachandra Reddy
3. Duggirala Gopala Krishnaiah
4

Bhogaraju Pattabhi sitaramaiah
HRTAT-UITeAT 3Ticleld & Adl
1. AR PURM
2. Tacrms TevEeT 39
3.  GPIRIET SMUTCTHSIRAT
4.  HPRIG USH AdRE=AT

138. The RTE Act came into force from

1 2010, April 2

2 2012, April 1

3. 2012, March 1

4 2010, April 1

f21em 3RIBR Plefe s AT A 1HAA H 37T -
1. 2 3% 2010,

2. 137 2012

3. 1@ 2012

4. 1 31 2010



139.

140.

These were called as “Nayankaras’ in Kakatiya’s period

1 Big tanks

2 Villages which have right to collect tax

3. Temples

4 Samantarajas

BIBAR & BIA H ARIB P dTH A A JARPE -
1. 92 died

2. @ WA BIA P gHER Iid

3. #fw

4, ATHA ST

The place where “Sufi’ gurus conduct meetings

1 Tareeka
2 Silsila
3. Khankhah
4 Rakhs

‘T’ H b I 37U AsH TA T A B A -
1. @@t
2. Faetaen

3. HAIHIG



141. A constitution for India in 1928 was prepared by

1 Dada bhai Nauroji

2 Motilal Nehru

3. Satyendranath Tagore
4

Ros Bihari Bose
A 1928 H AR 390 & [T Aldemal P Foglal T -
1.  cCeErs aRleh

2. HAldAA AgH
3.  AG SPR
4. I fOBR AT
142. “lI shall strive for a constitution which will release India from all
thraldom and patronage.....” who said these words

1 Dr. B.R. Ambedkar

2 Dr. Babu Rajendra Prasad
3. Mahatma Gandhi

4 Hrudayanath Khunjru

HIRA 391 Bl A PR P IRT A 3R HWQM0T A Jb
3 -

1.  SLAL3TR. 3idgHe

2. 1. 919 Ieig TAG

3.  HAGIcHT Iieht

4. EEI Py



143. Cannons and guns were introduced in Indian warfare by this Moghal

Emperor

1 Jahangeer
2 Akbar
3. Humayun
4 Babar

HRA & g o A dgdi 31 AUl & YHaTd A HIA

qreeng o foear e -
1.  SIgoR

2. 3[haR

3. gAY

4. qER

144. “Warm ocean currents’ means

1 flow of water currents in winter

2 flow of water currents in summer

3. flow of water currents in rainy season
4

flow of water currents throughout year
RHA AHGl TdTg -
1. T H Jgade I & gaTg
2. ot & agdee ot & saTE
3. auf kg A Jgeiarc oI & TG
4. A IR A Igoaid oI & YATG



EVS Methodology - PAPER-1-SET -1
145. "Science and Social Studies should be integrated as environmental

studies". This statement is given by

1 National Curriculum Framework 2005
2 Eswari Bhai Patel Committee

3. Kothari Commission 1964-66

4 National Educational Policy - 1986

fsmer ot 3R AT o iel @t fHeRR ‘u™favor
faser’ & ¥ # Uear g | Ig Jdel A B -

1. IET UTSR™T Bt TASE - 2005

2. SodRlar udd B

3. ISR BHIAT 1964-66

4.  IeErT frai voTrelt 1986

146. 'If the child interprets the reasons for the formation of Solar Eclipse'.

This relates to the objective

1 Interest

2 Attitude

3. Understanding
4 Application

feremeff Sforgor & BRUN & IR H =T B ot ag ==
2" A Hafdrd B -

1. B
2. g
3. 31TheTdd

4. 3THS T JASRNIT



147.

148.

149.

The environmental studies lesson of class V is good example that

indicates the relationship between science and social studies.

1
2
3.
4

Our constitution
Forests - Tribes
Child Rights
Energy

gl el & gfaRor fasier o &1 Ig ute fosiel o
3Tk AR AR A ST g1 § | SADT 3BT 33G0T g -

1.

2.

3.

4.

gART Afaerme
SioTeT - 3Tfear!
qTe-311eBR
91Th

The principle of curriculum construction that keeps the pupil in the

place of a discoverer is

1
2
3.
4

Principle of community centeredness
Forward looking principle
Creative principle

Conservative principle

feremelt ot snfiashrR® F W U= TTAAIA UTo-Alete ferATor

JA -
1.
2.
3.

4.

AATST bigd IJA

oot 7

HFoTellcHD a1
Holard! I (Feraaiea)

'‘Change of seasons' can best be explained through this type of films.



150.

1
2
3.
4

Revision films
School made films
Process films

Industrial films

HI3N &b uRader B AFFEATA ITH ABR B TS -

1.

2.

3.

4.

gerRiaior & fas
UTe2Ndl H I ot s
Afehe & Icras
3Menfors gaks

As per NCF-2005 the prime purpose of continuous comprehensive

evaluation is.

1 to overcome anxiety and competitiveness of examinations.

2 to upscale overall functioning of department of examinations.
3. to improve the standards of teaching learning.

4 to raise the standards of examinations.

TSl 31.U%B--2005 & 3TJAR Add AHIA FcAibel BT HZ2

TRIIGTe -

1. udensit & ufd 3g91 3R ufezuef & UR Been

2.  Uen-laamnTr @ Fri-ugld B GF dvg AUS T &
fere

3. forerur 3ifRTH & TR B dAgaR e

4. U3 & TR B dSTE



